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BapunaHTbl K NpakTu4ecko pabote Ne2

BapuaHTbl K NnpakTU4eckoun padborte No2

NMepemeHHan Ha3HauyeHue 3HayeHue NpeHTudukaTtop
$ N_{bp} $ Homep 6puragpbi $ N {6p}$ Nb
AnnHa _
$N$ nocnenoBaTesIbHOCTM $N =30+ N_{ophh\imod5 $ N
$a=(-1)~{N_{6p}}(0.8 +
$a$ OcHoBaHMEe 3KCMOHEHThI 0.005(N_{6p}\\!\'\mod20)) $ a
AMnanTypa _

3CS rapMOHMNYECKOro CUrHasna $C=1+N_{6p}\\i\imod> $ ¢

$ \hat{\omega} 0|YacTtoTa rapmMoHNYeCKOro $ \hat{\omega} 0 = \pi/(6 + WO
$ (pan) curHana N_{6p}\"\'\'\mod5) $

$U$ AMnanTyaa MMmnynbca $U=N{6p}$ ]

Hayva/lbHbIA MOMEHT _
$no0$ MMy bCa $n_0=3+N_{6pH\"\"\\mod5 $ no
; $n {imp} =5+ .
$n_{imp}$ AnnHa nmnynbca N_{6p \\\\mods5 $ n_imp
$B1$ A $B 1=15+N_{6p}\'"\"\\mod5 $ Bl
MMANTYAbI —

$B 253 rapMOHMYECKMX CUTHAN0B $B 2 =57-N_{6phhi\imod> $ B2

$B 3% $B 3=2.2+N_{6pH\\"\'\mod5 $ B3

$ \hat{\omega}_1 $ \hat{\omega}_1 = \pi/(4 + wl
$ N_{6pH\\I\l\mod5) $

$ \hat{\omega} 2| YacToTbl rapMOHNYECKMNX $ \hat{\omega} 2 =\pi/(8 + W2
$ CWrHasoB N_{6p\'\'\'\mod5) $

$ \hat{\omega} 3 $ \hat{\omega} 3 =\pi/(16 + W3
$ N_{6p\'\'\'\mod5) $

$ a_l $ Koact)(bMLl,MGHTH $ a_]. = 15 - N_{6p}\'\'\'\m0d5 $ a].

$a2$ JINHENHOK KoMBuHaumn | $a 2 = 0.7 + N_{6p}\'\'\'\mod5 $ a2

$ a_3 $ rapMoHn4eCckKmnx CurHanaos $ a_3 =14 + N_{6p}\|\|\|\mod5 $ a3
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